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Section A. {2 marks each)

Read the guestions carefully. Choose the correct answer ond

put a« TICK in the correct box,

1 Which is the smallest number?
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4, Which is the correct statement?
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9. What is the missing number in the box?
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Cross out 3 boxes with numbers that add up 1¢ 54
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Look ot the moder ghown, Write down tThe addition and

subtraction sentences that vou cen Torm using vhe madel,
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Draw the missing sha
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Look at the diagram above,

The mass of the hox is R
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Section C. Story Sums (4 marks 2ach)
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Do these sums carefully. Write yvour nutber sentences and

show your workings clearly.
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44, Thereare 28 toy penglins. Clarizsa packed The toy

there in each box’? Ring zhe Toy pehauins,
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